BT {7 R (7)

. QDIEKIE KT L, Aut(K) = Aut(K/Q) S D 3D Z & ZFFHHE X.

- (2) Aut(Q(V2)/Q) R &.

(b) Q(V2)/QiFHu 7IR TRV Z LAEH &.

- (a) RZWV2] :={a+bv2|abe Z} ¥ Z[V8] := {a+bV8 | a,b e Z} ZFAR T
WZ E ZREE &

(b) Q(vV2) ¥ Q(v8) FFE LW\ Z ¥ R &.

Cp BB GEMNBD PP THIHE T D, ZORG 2 Z/p*L $7213 G = (Z/pZ) x
(Z/pZ) DT DD LD Z & ZAEAE X.

KB X200 Q Lom/haf#ike 35,

(a) K =Q(v/2,4) (i \ZBEHANL) TH 2 Z & ZAFHE X.
(b) Gal(K/Q) 3 ¥ AZEE Y FHp?

() K/Q OHIfEiRZ 2 TRD X.
CF(X)=X'—3X24+252F 5.

(a) F(X)DQ Lo/ RklE Q(W13,v/—7) Th 3 = & % iHE X

2
ek <i@> *EZD.

(b) Gal(Q(V13,v/=7)/Q) & ¥ AR L A 2

(¢) Q(V13,v/=7)/Q OHhREk%E 2 TRD k.

Q(V2,V3) = Q(vV2 + V3) 24 7 Hi% W CAEAE &

. (a) CaZa+bi,abeRDFIZFEE. {HLU sin, cos IFHVWRNWI &.
(LI, n € NITH L, ¢, := /™ = cos(2m/n) +isin(2n/n) £ §3.)

(b) K = Q(C0) = Q(v3,i) TH 2 Z & %Y X.

(c) Gal(K/Q) X ¥ AL RN ?

(d) K/Q ohfiikz 2Tk X.

(G — G+ G RETREE X

V5 € @@5)@65 ¥ ZEFAE X

G)/Q OHIEAZ R TRD X.

Q(W=3)NQ(¢) = Q ZAEHHE X.

- (a)
(b)
()
)

Q
(d) Q(



MY TR R (7)

10. Q(C13)/Q DA M T[M : Q) =472 dDHE—DFET S Z 8, ROELD
Q(Cis + (3 + () TH B T & ZilE &

11. (a) pEFBE T 3. Gal(Q((2)/Q) = (Z/p*Z)* TH 3 Z & %Il k.
(b) Gal(Q((as)/Q) 1318k 20 DKEBETH % = & ZEFHIH &
(c) Q(¢5)/Q DHREIEDEEZ KD XK.
(d) Q&) 1E Q(Cos)/Q DHRATH 2 2 & ZAFHE &
e) Gal(Q(Cos)/Q(Gs)) =2 (21 + 257Z) % FFHHHE &
)

(
(f) Gal(Q(Cs)/Q(V5)) &R X.

12. L:=Q({), K := Q(cos(27/9)) £ XK.

(a) Gal(L/Q) IZNI¥ 6 DKERETSH 2 & & &AL X

(b) K/QBFua 7K TH2 2, Gal(K/Q) 1dNiZk 3 DI TH % Z & # Ak
k.

(c) cos(47/9), cos(87/9) € K ZAEHHY X.

(d) 0 € Gal(K/Q) % o(cos(21/9)) = cos(4r/9) TEFKT 5. o2(cos(2r/9)) =
cos(87/9), 03(cos(2m/9)) = cos(2w/9) TH % Z & ZLHE XK.

(e) Gal(K/Q) = (0) 2 Z/3Z TH % Z ¥ ZilH X.
13. V2 ¢ Q((,), Vn e NTH 3 Z & ZRlHE X.

14. Gal(L/K) »EHETH 2 K5 ko a 7K L/K 28 EHERE E 5. L/ K 3 F
BRIGKIEHEART M 25 L) K OFBHADKRE, M/ K » BRXKEKEHEATH 2 Z & %FEH
¥k

15. m,d e N3 5. db»m OKETH 5, f(a+mZ) = a+ dZ TERS N 5 U
BA& f (Z/mZ)* — (Z)dZ) FE&HTHE. 2D zhnu 7 Mm% v A
&

16. L/K BRI u7Hke U, G :=Gal(L/K) £ 3 %. ZOK L/K OFRIME M 12
U, TM/K 57 —=~MEK < LIGC 5 M) ZFERY X.

AR [v,y] = oy lyT B oy € GOXRET (GG = ([v,y] |1,y € G) B GDR
B so.



